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Question Nos. 1 to 80 are of objective type. Answer any 40 questiong. Eqgp
question has four options out of which only one is correct. You hqpe

to
mark your selected option on the OMR sheet.

| | 40X1=4O
1. qﬁtﬁ%mﬁuuwﬁémm@mmm%mﬁﬁmmm%
(A) v (B i
(C) Scwe (D) foreur

The expulsion of water through stomata in the form of vapour from

the aerial part of the plant is known as

(A) osmosis (B) transpiration
(C)  excretion (D) diffusion
2. T IqvireE 2
(A) 9w Ot =R B) feda ot ww
(C) gt it & = (D) M | F T
The tiger is a consumer of
(A} first trophic level (B) second Frophic level
(C)  third trophic level (D)  none of these w
[H/S-24(M)/ 7204279720 Page e
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3. HIEd 3@%13 WH 3
(A)  Wra (B
(C)  3ThiH (D) iR

The place of origin of human is

(A)  India (B) China
(C)  Africa (D) America
. e i o 2 e
(A) e H B T
(C) FNE H . (D) B 3t §

Peristalsis movement is found in

(A)  Colon (B) Oesophagus .
(C) Pancreas (D)  Small intestine
@@‘vﬂ qftagd = 9T S 8
(A)  FIRH - (B) foaeh §
(C) wg=H D) Fg d

Open circulatory system is found in

(A)  pigeon (B)  butterfly

(C) man (D) cat

H/S-24(M)/72042-(79/80)] Page 5 of 40
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W W RS w5y dIE B
A) A (B) i
©) S D) Fmiergge
vTh(- carrier of oxXygen in blood ig
(A)  fat (B) hormone
(C)  hae moglobin . (D) caxbohydratc
T TE Sy 6 e A e e 2
A 24 JB 23
€ 1 (D) 29
The fumber of pajrg of autosomes i humap is
=B B) 23
€ n D) 29
8. T e %MW-W%mmeé
! B) ey
o e D) &y
Th Most cllectiy, oloyr of Visible light Spectrum for
rh”m%y thesig ;.
Ay
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o, onaifeie e @1 wissfae wd Fosiferfiga o @ 8 2
(A)  THIR B
(C) gau (D) o
Which one of the following is the natural source of oxalic acid ?

(A) Tomato (B) Tamarind

(C) Orange (D) \%negar 8 &

[ \
10. WWWF@CH %lmﬁg C g,ifg
() 7 wEEAS SET R (B 8 F%Wm”%
(C) OHEHANRh @Y R (D) 10 GEHdANSeh €Y B

Propane, with the molecular formula C,Hg has

(A) 7 covalent bonds (B) 8 covalent bonds
(C) 9 covalent bonds (D) 10 covalent bonds
1. ﬁ@qmmgﬁmﬁrﬁmﬁqwﬁgwmaﬂ?ﬁ% ?

sracn fafet (B) i ferfepror

/*/“T“Q’Fﬁ“3”35“’T D) wHawh

Ozone lgyer protects earth from which harmful radiation’ ?

(A)  Infrared | (B)  Thermal

(C)  Ultraviolet (D)

—————

All of these
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12, ®H-H1 JUIg FR & AU T A e 4 URn ST 8 7
A B) sl

Which flon-metal is foung in liquid state at room temperature 5

(A) Mercury (B) ;Bromine

(C) Sulphur (D) Sodium
13 F=ifera § 99y ERRIGE I

(A)  Fe (B) cuy

(A)  Fe (B) Cil
(C) Nj D) aAs

14 Caco (g Ca0(s)+CO, (g) frg m B il 3 -
(A)

5) + €O, (g) is What type o reacticn ?
) Comppc: ‘
Posit :
tlion (B) Combination
() ISp ACemen (D)

Doube displacement
H/S-24(M)/720425(79/80) “page 8!
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15, filesd d wla wiflentr dqfera @ o
A Mg+O, »>MgO ° (B) 2Zn+H,SO, = 2nSO, +H,
(€) Fe+Cl, > FCCIS (D)  H, +Cl, » HCI
Which of the following equations is balanced ?
(A)  Mg+0O, - MgO (B) Zn+H,S0, = ZnSO, +H,
(C)  Fe+Cl, » FeCl, (D)  H, +Cl, - HCI

16. fraffiaa § @ fomwss gro sfeifies & & o auf &t & 2

(A)  FARIGAIRIhTE . (B) HOH SEIATHATSS
(C) e (D)  =hTeF SISTaITSS

Which of the following causes acid rain in industrial areas ?

1

(A)  Chlorofluorocarbon (B)  Sulphur dioxide

(C)  Ozone (D)  Carbon dioxide

17, mﬁlocmﬁmm,mmmﬁwmﬁmmaﬁ@
I 0 @
(A) 10 cm @ afers (B) 20cm§3®$
(C) 10 cm 9 &y D ' i

I D) &8 & S 7

H/S-24(Mm) /72042-(79,30,
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The magnification produced by a concave mirror of focq) leg

t
10 emiis positive, if the value of object distance s

(A)  more than 10 cm (B)  more than 20 ¢m

(C)  less than 10 cm (D) none of these

18. mmégaﬁaﬁmﬁmmaadwﬁméamm

() w2 B T
(C) 3R T 2 D) 3 & Hig

On moving from focys towards the pole, the magnification i,

concave mirror

(A)  increases (B)  decreases

(C)  remains constant (D)  none of these

10, fagn st ot ) g i e
(A) T ww ) "R St
C) feufo ol (D) iy St

: i
Which energy does g hydro-electric power plarit convert !

electric energy ?

(A) ‘N_uclear energy (B)  Solar energy

Thermal energy /OH‘
Page 10
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20. A9 AR H TH FAAHR Feehl fheh grachia & 1 gofl 7fa w0 @ 2
8 $ocil 4 Wa fae@ ww A Ren § e gfomor & geema afwgds
glal @ ? |

(A)  TH-SUTE (B) 3T
/‘c)/ w D) @

A rectangular coil of a copper wire is rotated in a. magnetic ficld.

The direction of the induced current in the coil changes after
(A) every one-fourth rotation

(B) every half rotation

(C)  every one rotation

(D) évery two rotations

21, mmm%umaamaaﬁ?ﬁiﬁmnﬁﬁmxﬁm%wmm

@l &) i iy 6 fam 2

(C) 49 H By 61 31 (D)

e——

FH 8§ HIE g
H/S—24(M)/7M
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The image of an ant in a concave mirror iIs erect ang 8oeg
increasing as the ant moves along the principal axis. The direg,
of motion of the ant is
(A)  from focus to centre of curvature
(B)  from focus to pole
(C)  from pole to focus
(D) none of these
i@ % v ) T B ) Rl e 2
() 7 vew (B Rt
€ o (D) weT HiEd R

The radius of curvature of the lens of an eye is controlled by

(A)  retina (B) iris
(C)  pupil (D) ciliary muscles
$O AT FH T Ie BT R 9
(A)  TUEd % Hr )&/

| SR % oy
€ st & s D) st % s

Due to Scattering
(C)  Due to absorption

. (D) Due to refraction
/8- 24(M)/72042 -(79/80) Page 12 d
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25

26.

gfAdu &1 SI 9rEe B 2

(A) R (B) dr
(C) 3'ﬁq (D) = [

The SI unit of resistance is

(A) ampere (B)  watt
(C) ohm (D) volt
g& FEEd Y HL &

(A) TEEAH /m 3
(C) Seasid H (D) Ur=A #

Kidney helps in

(A) respiration (B) reproduction
(C) excretion (D) digestion
TeRTY HYATYT BT &

() gTE-AM By e e

() fea-ta (D) e A H

Photosynthesis takes place during
(A) Morning-evening (B) Day only

(C) Day-night (D)  Night only

(212 ]

H/S-24(M)/72042-(79/80)
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A FEE (B) s A
(C)  siewmm ¥ (D) =T
Synaptic knobs are found in

(A) | kidney (B)  brain

(C)  ovary (D) neuron
28. ﬁmﬁm%amﬂm%e‘ﬂs‘m% ?
. A) R e
© @ D) 2=

Which of the following has the fastest heartbeat

(A) - Elephant (B)

" Human
(€)  Rat D) Whale
20 BT $e Py 4 3 g 3 |
(4)  dre B) o
&g D) 57 3 58

Which of the following is cellular fuel »

(A)  Protein (B) Glucoge

(C)  Fat

(D) None of these
H/s-24(M)/72042-(79,80, Page 140
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30. ATPH SI¥he & dear fopaht 81t & 2

A) TH B) d
(Cc) dH (D) =R
How many phosphates are there in ATP ?
a) 1 (B) 2
© 3 " (D) 4

31. fr=fefad § 9 9758 1 T 3egsii 377 781 @ ?
(A) ST S B) &
©) FEEE iy
Which of the following is not an exc;retory organ of human ?
(A) Lungs (B) Kidney
(C) Pancreas (D)  Skin

() ug@ /(E/?ﬂsrrsg

() e (D) 3 A Wi 98
The smallest endocrine gland is
(A)  Adrenal (B)  Thyroid
(C)  Pineal (D) None of thege
\—
H/S—24(M)/7204M
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33. i 3n<t St W YRt eH i 1

< H I (B)
€ e (D)
All acids dissolve in water to give
(A)  H%ion (B)
(C)  electron (D)

34. e et § 1 gl ot 2 2
(A)  HCl (B)

(C) H,S0, (D)

[ 212

OH™ A4

~

CA

OH ion

neutron

CH,COOH

Which of the following compounds is a weak acid ? ‘

“(A) - HCI (B)

(C) H,S0, (D)

35. Teat JEEE H T A § o

/w/ L (B)

©) e

What is the colour of silver iodide ?

(A)  White (B)

(C)  Yellow

(D)

(D)

CH,COOH

HNO,

e

&

Blue

Green

—_— L
H/S-24(M)/72042-(79/80) Page 16 of 4
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36. Hd FAR Wpfaeh qqret @
G G (B)
/e{ g (D) e
The hardest natural substance is
(A)  Silver | (B) Gold
(C) Diamond (D) Iron

37. mﬁq%mﬁmmﬁ?

Page 17 of 40



39) WEHIEA T FRH O R = eis et smd e 2
.
S ™. 2
(C) 3 D) =
How many bonds are there between two atoms In 2 molecyul
nitrogen ?
(A) 1 B 2
(C) 3 (D) <
40. {’_'r'-h é:i I IHAF I35 ?
(A)  CH, B) C.H,
(C) CnH2n-2 (D) CnHl N
The general formula of alkyne is
(A) CnH2n+2 (B) CnHzn
(C) CnH2n-2 (D) CnH’.)n—l
l 41. foerErR-ger (kWh) 05 2
(A) i (B) wmy =

©) Fom Pt

Kilowatt-hour (kWh) is the unit of

(A)  energy (B) time

(C) mass (D)  power

H/S-24(M)/72042-(79/80)
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12, AT i 5 g ) A s e ) i v e 2
/M/ | T Usft gr (B)  ydeft g
(C) I gra (D)  ufarfer g
The amount of light entering in human eye is controlled by
(A)  ciliary muscles (B)  pupil

(C) cornea (D) iris

43.  HF-H1 WO 9 Hig 2 »

A) TP v i By gt e
(C) 9 TEn (awimm) (D) ¥ |+ 7

Which is the conventional source of energy ?

(A)  Nuclear energy source (B)  Geo-thermal energy source

(C) Biomass (D) None of these

4. Toreft @iw A sl 6 ST wern B 2
(A)  4nZ (B)  3n?

(C)  2n? (D) n2

The maximum number of clectrons in g shell ig

(A)  4n? (B) 3n2
(C) 2n2 (D) n?
TR

H/8-24(M)/72042-(79/80)
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ﬁq-msﬁsmﬁmwﬂﬁm%?

45.
() (B) S
© = p]
Which hydrocarbon is the simplest compound ?
(A) Methane (B) Propane
(C) Butane (D) Ethane
46. frm 1 @ o g 1 T GaE A 2
(A) Na (B) cu
(C) Fe (D) Al
Which of the following metals has the lowest melting point ?
(A) Na (B) Cu
(C) Fe | (D) Al
47. @ T EEA @
(A) 23 (B) 43
© 79 (D) 80
The atomic number of gbld is
(A) 23 (B) 43
(C) 79 (D) 80
H/S-24(M)/72042-(79/80) Rage Qm
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48. Afefigd 8 9 @90 g 2
(A) HCL - (B) NH,OH -
() NaOH : (D)  K,SO,
Which of the following is a salt ?
(A) HCI (B) NH,OH
(C) NaOH (D) K,SO,

40, 3N T T STEET HT 8

(A) ATP (B) CFC

(C) NADP (D) DDT

Depletion of ozone layer is due to

(A) ATP (B) CFC

(C) NADP (D) DDT

50. Frferfaq St 3 forail srefen S TFEH GIU gl § P
(A)  IHISTH ot

'(B)
()  37HErl /paw/ =

In which of the following organisms does asexual reproduction

occur through budding ?

(A)  Plasmodium (B) Leishmania

(C) Amoeba (D) Yeast

H/S-24(M)/72042-(79/80)| - Page 21 of 40
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S1.  9reY i &1 wh Feree 2
(B) TSH
(A)  IAA |
ACH (D) ACTH
(€) |
An example of plant hormone is

A) 1A 6 S
( .

Ty

(C) AcCH (D)

S2. 3 F1fH wa gy 3

)‘A(Grs'am B) W g

(€)  wa gm

ACTH

D) @ gmy

Vegetative Propagation in potato takes place by

B roor (B)  seed
C)  fruit (Dj Stem
S3. ETSISE 9 ey
A B) g
€)  gaqy D) w70 g
Hydrilla s (o4
(A) in Water (B) in soj]
€ on trec D) ay Of thege
H/S~24(M)/72042

4(
of
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| " e e &1 RIS T g
| (y 140 mm Hg (B) 120 mm Hg

(C) - 100 mm Hg - (D) 80 mm Hg

Systolic blood pressure of a healthy person is
(A) 140 mm Hg (B) 120 mm Hg
/tc) 100 mm Hg (D) 80 mm Hg

/g:," swafift St T ST &
L /

N aEs (B W™
() wodl (D) =&
An example of bisexual organism is
() Hydra (B) Man
() Fish (D) Goat
W drgm ‘/aaa/ firewr gra
) a6 gr (D)  H®SI gH

In fish, respiration takes place through

4 mouth (B)  gills
Mc (D)  lungs
Page 23 of 40
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29.

[212
e wroll & et g % o el ) gea ) 2

(A)  wm @ fm

© (A) 3T (B) 3 (D) ¥ # g T

The valency of all elements in a group of the periodic table is
(A)  same (B) different

(C)  both (A) and (B) (D) none of these

fr=iferd o B wm % w9 § 5 i s R o

(A) T (B) B

(C) fawan | (Dﬂ QIS 3

Which of the following is used as wine ?

(A) Ethanol (B) Methanol

(C)  Vinegar (D)  Methanoic acid
erd ot 3 gt ol el o s e 2 2

(A) 18 . - (B) 12

(C) 10 (D) 8

What is the number of elements in the third group of the periodic

table ?

(A) 18 (B) 12

(C) 10 (D) ef =
H/S-24(M)/72042-(79/80) Page 24 0
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w R (B)  wnfers
© e D) i
which is used in Solar ce]] ?
(A) Uranium | (B)  Plastic
(c) Silicon (D)  Plutonium

6. wh 0 BT FARID o= 2, 8, 7 81 56 A i ey e w0 @ P

(A) 10 B) 11

€ 17 | (D) 19

The electronic configuration of an element is 2, 8, 7. What is the

atomic .number of the element ?

(A) 10 (B) 11
€ 17 | (D) 19
‘52. S 6 urg @1 fAwTg 8 P
(A)  Fe (B) Sn
€ Al (D) Cu

Duralumin is an alloy of which metal ?
4 Pe (B) Sn

O a | (D) Cu

\

[H/S-24(M)/72042-(75/80)| Page 25 of 40
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65.

[212)
afyay wiake & 3THA (mg
(A)  NaPO, (B) NazPO,
(C)  Na,(PO,), /‘Dy/ Na,PO,

The molecular formula of sodium phosphate is

(A)  NaPO, (B)  NayPO,

(C)  Nay(PO,); (D) Na,PO,

s ) HrT R e FEd &

(A) T (B)

() I HEe (D)

The structural and functional unit of kidney is called
(A)  Urinary bladder (B)  Glomerulus

(C) Bowman's capsule (D)  Nephron

| mfagaaﬁaﬁmaﬁww—ﬁ-wmmm?

(4) 1500 faft/aer (B) 150 ﬁ?rﬁ/tia‘

€ 15 fari/ge o) 15 felt/a

What should be the minimum speed of wind in a wind electric
generator ?

(A) 1500 km/h (B) 150 km/h

(C) 15km/h (D) 1-5km/h -
{40
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f o, e T I R

() e (B) D.C.Hrx #

) HEeH | (D) & & Hg A

A split ring is used in

(A)  galvanometer (B) D.C. motor
(C) microscope (D) none of these
o7, enfeeres =TTl et & 37at foRe vt <Al iy w3 2 2
y/ ESEAE) (B) dieH
© M (D) ¥ | i T
Metallic conduction is based on motion of which particle in
material ?
(A)  Electron (B)  Proton
(C)  Neutron (D)  None of these

. F9H-2139 GN Pert % Hul WAl U i BT @@ AT 21 ST HRO 2
(A) %é@mﬁsﬁ%m@%ﬁmww%m?ﬁ
B)  faferror gry g <61 =1fy ) A
T 3 i e A o @ G

\ '
Page 27 of 40
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The upper part of a box-type solar cooker has a glass cover, Th

reason for this is

(A) to see whether the food kept inside the cooker is be;

" cooked or not
(B) to prevent loss of heat due to radiation
(C) to prevent the passage of dust into the box

(D) none of theseA
69. dleedl V, W AG P 1 T SRive, deedr V, T A6 P, % i
Sroft 3 w21 3| TAged SRy g

' ) 2
Ve Vs A .5
P R, B vty
P F, 1 2
P +P P, P,
(C) : 22 (D) ;15*”_‘}?
(V; +V,) 1 2

. - \'
i ' nnected in series’
A resistor of power P, at voltage of V| is conn

'rlt
‘ The equ*®
another resistor of power P, at voltage v,.

resistance will be

| 2 2
‘ 2 2 : P, P2
v ® T

(A) B P, 1 2

P

P + P, : D) P 1, 22

C ____1_.——-2-— ( 2 V2

(C) v 2

2 !
(V, +Vy) 4//28&
B =
| H/S-24(M)/72042—(79/80)
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magamﬁmmﬁmﬁmﬁrﬁzﬁ%

(©) 100 Hz /(D/on Hz

' ‘~ ol it is
The frequency of alternating current in household electric circu

70.

(A) 50 Hz (B) 60 Hz
(C) 100 Hz - (D) 220 Hz
7. mﬁmmﬁamm@m%?
(A) aRdH (B) &
© . (D) R
Which of the following has the lowest refractive index ?
(A) | Turpentine (B)  Benzene
(C) | Water (D)  Kerosine

n W frew e waEt @ R e @
,m' | (B 4
€ s | D) 6

A Simple prism is“bounded by how many surfaces ?

L . B) 4

& il —_—
@8-24(M)/72042ip9/80)’ Page 29 of 4
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IR A % o g faeg R ‘
(A) 25 fify JB) ' ’25 o)
(C) 25T

(D) 3T
The far point for the normal vision is

(A) 25 mm (B) 25cm
(C) 25 m (D)

infinity

ﬂﬁ%@ﬁﬁwwuﬁfﬁwwmﬁqw%,aﬁwmﬁw
1 grft ?

(A) dIrEifaes 3R e (B)  3HTER 3R e |

(C)  3MHTE 3R Iea /pm/m%ﬁsaﬂtm

What will be the nature of the image of an object, if magnificati

of the image is negative ?
(A) Real and erect (B)  Virtual and erect

(C) Virtual and inverted (D) Real and inverted

T 3 e ¥ TR frm @ 2
@A 1 B
© 3 e

| H/S‘24(M)/72042-(79/80) pageé
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How many laws are there for reflection of light ?

A 1 ‘ B 2
€ 3 (D) 4 -
76. ﬁmmﬁmﬁaawmmﬁmmﬁﬁﬁ?'mw
A &
(A) 135° (B) 90°
C) 45° (D) 0°
A ray of light is incident perpcndiculax{to a plane mirror. The angle
of reflection will be |
(A) 135° | A(B) 90°
(C) 45° (D) 0°
77. dAgHgE W TehTI I HI-HT TT () ATt Fhiv Har & 2
(A) - dren (B) Al
y/ S| (D) e
Which colour of light scatters moré in atmosphere ?
(A)  Yellow “ (B) Orange
(C)  Red (D) Blue
T~
H/S-24(M)/72042-(79/80) Page 31 of 40




8. ary d AirEd oF 8

~J

(A) S H IEAA W (B) Fig o1 gEdeEdd o
(C) g % 30 o D) T & HE

Converging lens in air is

(A) Concave lens of glass  (B) Plano-concave lens of glags
(C)  Convex lens of glass (D) none of these
79. afe ataaet qiu @ Freen s A g S, A St
(A) iy s /uz( ST T
© wndETm (D) 3T & I T |
If the loﬁver half of a concave mirror gets broken then the image |
(A)  will form erect (B)  will be halved
(C)  will be less intense (D) none of these

80. mmﬁmm(ﬁwmm)ﬁﬁa(wmm)ﬁwﬁ%,?ﬁ

ER

e

/cm/mﬁ?ﬁ B) i B s
(c) e % FHI D) W 8T

When a ray of light travels from air ( a rarer medium ) to glass \#

denser medium ), it bends

(A) away from the normal (B)  towards the normal

(C) parallel to the normal (D) none of these‘/
- 32 Oi'...
) H/S-24(M)/72042-(79/ST)\ Pag




